
� No.252B約両方-5-1 �

No.252B約両方-5-1 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 169÷ 0.07 (2) 9.59÷ 0.009

(3) 622.1÷ 0.6 (4) 9.865÷ 0.006

(5) 6014÷ 0.7

� 13th-note �



� No.252B約両方-5-1 �

No.252B約両方-5-1 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 169÷ 0.07
2410
2414 · · ·

(2) 9.59÷ 0.009
1070
1065 · · ·

(3) 622.1÷ 0.6
1040
1036 · · ·

(4) 9.865÷ 0.006
1640
1644 · · ·

(5) 6014÷ 0.7
8590
8591 · · ·

� 13th-note �



� No.252B約両方-5-2 �

No.252B約両方-5-2 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 983.3÷ 0.6 (2) 27.68÷ 0.003

(3) 44.14÷ 0.07 (4) 249.7÷ 0.6

(5) 1099÷ 0.3

� 13th-note �



� No.252B約両方-5-2 �

No.252B約両方-5-2 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 983.3÷ 0.6
1640
1638 · · ·

(2) 27.68÷ 0.003
9230
9226 · · ·

(3) 44.14÷ 0.07
631
630.5 · · ·

(4) 249.7÷ 0.6
416
416.1 · · ·

(5) 1099÷ 0.3
3660
3663 · · ·

� 13th-note �



� No.252B約両方-5-3 �

No.252B約両方-5-3 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 1.226÷ 0.09 (2) 8.954÷ 0.009

(3) 50.86÷ 0.03 (4) 80.47÷ 0.09

(5) 34.84÷ 0.03

� 13th-note �



� No.252B約両方-5-3 �

No.252B約両方-5-3 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 1.226÷ 0.09
13.6
13.62 · · ·

(2) 8.954÷ 0.009
995
994.8 · · ·

(3) 50.86÷ 0.03
1700
1695 · · ·

(4) 80.47÷ 0.09
894
894.1 · · ·

(5) 34.84÷ 0.03
1160
1161 · · ·

� 13th-note �



� No.252B約両方-5-4 �

No.252B約両方-5-4 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 57.69÷ 0.6 (2) 2689÷ 0.9

(3) 0.1983÷ 0.009 (4) 140.1÷ 0.06

(5) 518.2÷ 0.3

� 13th-note �



� No.252B約両方-5-4 �

No.252B約両方-5-4 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 57.69÷ 0.6
96.2
96.15

(2) 2689÷ 0.9
2990
2987 · · ·

(3) 0.1983÷ 0.009
22.0
22.03 · · ·

(4) 140.1÷ 0.06
2340
2335

(5) 518.2÷ 0.3
1730
1727 · · ·

� 13th-note �



� No.252B約両方-5-5 �

No.252B約両方-5-5 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 36.69÷ 0.06 (2) 1934÷ 0.6

(3) 98.47÷ 0.07 (4) 76.93÷ 0.9

(5) 49.52÷ 0.7

� 13th-note �



� No.252B約両方-5-5 �

No.252B約両方-5-5 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 36.69÷ 0.06
612
611.5

(2) 1934÷ 0.6
3220
3223 · · ·

(3) 98.47÷ 0.07
1410
1406 · · ·

(4) 76.93÷ 0.9
85.5
85.47 · · ·

(5) 49.52÷ 0.7
70.7
70.74 · · ·

� 13th-note �



� No.252B約両方-5-6 �

No.252B約両方-5-6 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 3.848÷ 0.07 (2) 61÷ 0.9

(3) 12.94÷ 0.9 (4) 19.97÷ 0.7

(5) 7972÷ 0.9

� 13th-note �



� No.252B約両方-5-6 �

No.252B約両方-5-6 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 3.848÷ 0.07
55.0
54.97 · · ·

(2) 61÷ 0.9
67.8
67.77 · · ·

(3) 12.94÷ 0.9
14.4
14.37 · · ·

(4) 19.97÷ 0.7
28.5
28.52 · · ·

(5) 7972÷ 0.9
8860
8857 · · ·

� 13th-note �



� No.252B約両方-5-7 �

No.252B約両方-5-7 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 608.2÷ 0.09 (2) 3.293÷ 0.006

(3) 6.716÷ 0.009 (4) 1.372÷ 0.06

(5) 79.64÷ 0.009

� 13th-note �



� No.252B約両方-5-7 �

No.252B約両方-5-7 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 608.2÷ 0.09
6760
6757 · · ·

(2) 3.293÷ 0.006
549
548.8 · · ·

(3) 6.716÷ 0.009
746
746.2 · · ·

(4) 1.372÷ 0.06
22.9
22.86 · · ·

(5) 79.64÷ 0.009
8850
8848 · · ·

� 13th-note �



� No.252B約両方-5-8 �

No.252B約両方-5-8 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 5594÷ 0.7 (2) 64.32÷ 0.07

(3) 4.903÷ 0.09 (4) 114.1÷ 0.6

(5) 0.1567÷ 0.007

� 13th-note �



� No.252B約両方-5-8 �

No.252B約両方-5-8 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 5594÷ 0.7
7990
7991 · · ·

(2) 64.32÷ 0.07
919
918.8 · · ·

(3) 4.903÷ 0.09
54.5
54.47 · · ·

(4) 114.1÷ 0.6
190
190.1 · · ·

(5) 0.1567÷ 0.007
22.4
22.38 · · ·

� 13th-note �



� No.252B約両方-5-9 �

No.252B約両方-5-9 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 99.86÷ 0.7 (2) 6.539÷ 0.06

(3) 3568÷ 0.9 (4) 37.36÷ 0.6

(5) 0.6304÷ 0.003

� 13th-note �



� No.252B約両方-5-9 �

No.252B約両方-5-9 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 99.86÷ 0.7
143
142.6 · · ·

(2) 6.539÷ 0.06
109
108.9 · · ·

(3) 3568÷ 0.9
3960
3964 · · ·

(4) 37.36÷ 0.6
62.3
62.26 · · ·

(5) 0.6304÷ 0.003
210
210.1 · · ·

� 13th-note �



� No.252B約両方-5-10 �

No.252B約両方-5-10 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 6.865÷ 0.06 (2) 74.93÷ 0.03

(3) 1.073÷ 0.09 (4) 572.8÷ 0.06

(5) 1.842÷ 0.007

� 13th-note �



� No.252B約両方-5-10 �

No.252B約両方-5-10 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 20点）

(1) 6.865÷ 0.06
114
114.4 · · ·

(2) 74.93÷ 0.03
2500
2497 · · ·

(3) 1.073÷ 0.09
11.9
11.92 · · ·

(4) 572.8÷ 0.06
9550
9546 · · ·

(5) 1.842÷ 0.007
263
263.1 · · ·

� 13th-note �


